PRACTICE 6A

Find the value of each of the following:

10.

B p PR RS =

(a) (b) (c)

2 x 3 4 x 2 2 x 2
1 x2 9 x 2 2 x8
2x6 7 x 2 2 x10
5x%x?2 3 x?2 2 x4
2x9 6 x 2 2x7

A bird has 2 wings.
How many wings do 6 birds have?

At a party, each child gets 2 balloons.
How many balloons do 10 children get?

lan saves $5 a week.
How much can he save in 2 weeks?

Lauren bought 4 bags of ground coffee.
Each bag weighed 2 kg.
How many kilograms of ground coffee did she buy?

Morgan made 2 sets of curtains.
She used 8 m of cloth for each
set of curtains.

How many meters of cloth did
she use altogether?
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